

GENERALIZATIONS OF DEC'S INEQUALITY FOR TWO ISOTONIC FUNCTIONALS

SILVESTRU SEVER DRAGOMIR^{1,2}

ABSTRACT. In this paper we obtain some inequalities for two isotonic functionals that generalize the well known Daykin, Elizer and Carlitz (DEC's) inequality. Applications for several classes of mean are provided as well.

1. INTRODUCTION

In [2], Daykin, Elizer and Carlitz obtained the following refinement of the Cauchy-Bunyakovsky-Schwarz inequality, which, in the version from [3, p. 87], can be stated as:

$$(DEC) \quad \left(\sum_{i=1}^n a_i b_i \right)^2 \leq \sum_{i=1}^n \varphi(a_i, b_i) \sum_{i=1}^n \psi(a_i, b_i) \leq \sum_{i=1}^n a_i^2 \sum_{i=1}^n b_i^2,$$

where and $a_i, b_i \in [0, \infty)$ for each $i \in \{1, \dots, n\}$ and (φ, ψ) is a pair of functions defined on $[0, \infty) \times [0, \infty)$ and satisfying the conditions

- (i) $\varphi(a, b) \psi(a, b) = a^2 b^2$ for any $a, b \in [0, \infty)$;
- (ii) $\varphi(ka, kb) = k^2 \varphi(a, b)$ for any $a, b, k \in [0, \infty)$;
- (iii) $\frac{b\varphi(a, 1)}{a\varphi(b, 1)} + \frac{a\varphi(b, 1)}{b\varphi(a, 1)} \leq \frac{a}{b} + \frac{b}{a}$ for any $a, b \in (0, \infty)$.

As examples of such pairs of functions, which will be called for simplicity (*DEC*)-pairs, we can indicate the following functions: $\varphi(a, b) = a^2 + b^2$, $\psi(a, b) = \frac{a^2 b^2}{a^2 + b^2}$ and $\varphi(a, b) = a^{1+\alpha} b^{1-\alpha}$, $\psi(a, b) = a^{1-\alpha} b^{1+\alpha}$ with $\alpha \in [0, 1]$. The first pair generates the famous *Milne's inequality*:

$$(1.1) \quad \left(\sum_{i=1}^n a_i b_i \right)^2 \leq \sum_{i=1}^n (a_i^2 + b_i^2) \sum_{i=1}^n \frac{a_i^2 b_i^2}{a_i^2 + b_i^2} \leq \sum_{i=1}^n a_i^2 \sum_{i=1}^n b_i^2,$$

while the second generates the *Callebaut's inequality*:

$$(1.2) \quad \left(\sum_{i=1}^n a_i b_i \right)^2 \leq \sum_{i=1}^n a_i^{1+\alpha} b_i^{1-\alpha} \sum_{i=1}^n a_i^{1-\alpha} b_i^{1+\alpha} \leq \sum_{i=1}^n a_i^2 \sum_{i=1}^n b_i^2.$$

We observe that from the property (iii) we have the inequality

$$2 \leq \frac{b\varphi(a, 1)}{a\varphi(b, 1)} + \frac{a\varphi(b, 1)}{b\varphi(a, 1)} \leq \frac{a}{b} + \frac{b}{a},$$

for any $a, b > 0$.

1991 *Mathematics Subject Classification.* 26D15; 26D10.

Key words and phrases. Isotonic Functionals, DEC's inequality, Milne's inequality, Callebaut's inequality, Schwarz's inequality, Integral inequalities, Discrete inequalities.

If in this inequality we choose $a = \frac{u}{v}$ and $b = \frac{z}{w}$, then we get

$$(1.3) \quad 2 \leq \frac{zv\varphi\left(\frac{u}{v}, 1\right)}{uw\varphi\left(\frac{z}{w}, 1\right)} + \frac{uw\varphi\left(\frac{z}{w}, 1\right)}{zv\varphi\left(\frac{u}{v}, 1\right)} \leq \frac{uw}{vz} + \frac{vz}{uw}.$$

From the property (ii) we have

$$zv\varphi\left(\frac{u}{v}, 1\right) = \frac{z}{v}\varphi(u, v) \quad \text{and} \quad uw\varphi\left(\frac{z}{w}, 1\right) = \frac{u}{w}\varphi(z, w),$$

which give from (1.3) that

$$(1.4) \quad 2 \leq \frac{zw\varphi(u, v)}{uv\varphi(z, w)} + \frac{uv\varphi(z, w)}{zw\varphi(u, v)} \leq \frac{uw}{vz} + \frac{vz}{uw},$$

for any $u, v, z, w > 0$.

Utilising the property (i) we have

$$\varphi(z, w) = \frac{z^2w^2}{\psi(z, w)} \quad \text{and} \quad \varphi(u, v) = \frac{u^2v^2}{\psi(u, v)},$$

which, from (1.4), produces the inequality

$$2 \leq \frac{\varphi(u, v)\psi(z, w)}{z w u v} + \frac{\varphi(z, w)\psi(u, v)}{u v z w} \leq \frac{uw}{vz} + \frac{vz}{uw},$$

i.e., the inequality

$$(1.5) \quad 2uvwz \leq \varphi(u, v)\psi(z, w) + \varphi(z, w)\psi(u, v) \leq u^2w^2 + v^2z^2,$$

for any $u, v, z, w \geq 0$.

Definition 1. We say that the pair of functions (φ, ψ) defined on $[0, \infty) \times [0, \infty)$ and with positive values is of pre-(DEC) type if it satisfies the condition (1.5).

We observe that, as shown above, if (φ, ψ) is a (DEC) pair, then it is of pre-(DEC) type.

In this paper we obtain some inequalities for two isotonic functionals that generalize the well known DEC's inequality. Applications for integrals and n -tuples of real numbers are provided as well.

2. MAIN RESULTS

Let L be a linear class of real-valued functions $g : E \rightarrow \mathbb{R}$ having the properties

- (L1) $f, g \in L$ imply $(\alpha f + \beta g) \in L$ for all $\alpha, \beta \in \mathbb{R}$;
- (L2) $\mathbf{1} \in L$, i.e., if $f_0(t) = 1, t \in E$ then $f_0 \in L$.

An isotonic linear functional $A : L \rightarrow \mathbb{R}$ is a functional satisfying

- (A1) $A(\alpha f + \beta g) = \alpha A(f) + \beta A(g)$ for all $f, g \in L$ and $\alpha, \beta \in \mathbb{R}$.
- (A2) If $f \in L$ and $f \geq 0$, then $A(f) \geq 0$.

The mapping A is said to be *normalized* if

- (A3) $A(\mathbf{1}) = 1$.

Isotonic, that is, order-preserving, linear functionals are natural objects in analysis which enjoy a number of convenient properties. We note that common examples of such isotonic linear functionals A are given by

$$A(g) = \int_E g d\mu \quad \text{or} \quad A(g) = \sum_{k \in E} p_k g_k,$$

where μ is a positive measure on E in the first case and E is a subset of the natural numbers \mathbb{N} , in the second ($p_k \geq 0, k \in E$).

We have the following refinement of Schwarz inequality for isotonic functionals:

Theorem 1. *Let (φ, ψ) be a pre-(DEC) pair. Assume that $f, g : E \rightarrow \mathbb{R}$ are such that $f^2, g^2, fg, \varphi(f, g), \psi(f, g) \in L$, then for all isotonic linear functionals A, B defined on L ,*

$$(2.1) \quad 2A(fg)B(fg) \leq A[\varphi(f, g)]B[\psi(f, g)] + A[\psi(f, g)]B[\varphi(f, g)] \\ \leq A(f^2)B(g^2) + A(g^2)B(f^2).$$

In particular, for $B = A$, we obtain the refinement of Schwarz's inequality

$$(2.2) \quad A^2(fg) \leq A[\varphi(f, g)]A[\psi(f, g)] \leq A(f^2)A(g^2).$$

Proof. From the inequalities (1.5) we get for $u = f(t), v = g(t), z = f(s)$ and $w = g(s)$ with $t, s \in E$, then

$$(2.3) \quad 2f(t)g(t)f(s)g(s) \\ \leq \varphi(f(t), g(t))\psi(f(s), g(s)) + \varphi(f(s), g(s))\psi(f(t), g(t)) \\ \leq f^2(t)g^2(s) + g^2(t)f^2(s),$$

for all $t, s \in E$.

Fix $s \in E$, then the inequality (2.3) can be written in the order of L as

$$(2.4) \quad 2f(s)g(s)fg \leq \varphi(f(s), g(s))\varphi(f, g) + \varphi(f(s), g(s))\psi(f, g) \\ \leq g^2(s)f^2 + f^2(s)g^2.$$

If we apply the functional A to this inequality we deduce

$$2f(s)g(s)A(fg) \\ \leq \varphi(f(s), g(s))A[\varphi(f, g)] + \varphi(f(s), g(s))A[\psi(f, g)] \\ \leq g^2(s)A(f^2) + f^2(s)A(g^2)$$

for all $s \in E$.

This inequality can be written in the order of L as

$$2A(fg)fg \leq A[\varphi(f, g)]\psi(f, g) + A[\psi(f, g)]\varphi(f, g) \\ \leq A(f^2)g^2 + A(g^2)f^2$$

and if we apply to this inequality the functional B , then we get (2.1). \square

Corollary 1. *Assume that $f, g : E \rightarrow \mathbb{R}$ are such that $f^2, g^2, fg, f^2 + g^2, \frac{f^2g^2}{f^2+g^2} \in L$, then for all isotonic linear functionals A, B defined on L ,*

$$(2.5) \quad 2A(fg)B(fg) \\ \leq A(f^2 + g^2)B\left(\frac{f^2g^2}{f^2 + g^2}\right) + A\left(\frac{f^2g^2}{f^2 + g^2}\right)B(f^2 + g^2) \\ \leq A(f^2)B(g^2) + A(g^2)B(f^2).$$

In particular, for $B = A$, we obtain the Milne refinement of Schwarz's inequality

$$(2.6) \quad A^2(fg) \leq A(f^2 + g^2)A\left(\frac{f^2g^2}{f^2 + g^2}\right) \leq A(f^2)A(g^2).$$

The proof follows by Theorem 1 for the (DEC) pair $\varphi(a, b) = a^2 + b^2$, $\psi(a, b) = \frac{a^2 b^2}{a^2 + b^2}$, $a, b > 0$.

Corollary 2. Assume that $f, g : E \rightarrow \mathbb{R}$ are such that $f^2, g^2, fg, f^{1+\alpha}g^{1-\alpha}, f^{1-\alpha}g^{1+\alpha} \in L$, with $\alpha \in [0, 1]$, then for all isotonic linear functionals A, B defined on L ,

$$(2.7) \quad \begin{aligned} 2A(fg)B(fg) \\ \leq A(f^{1+\alpha}g^{1-\alpha})B(f^{1-\alpha}g^{1+\alpha}) + A(f^{1-\alpha}g^{1+\alpha})B(f^{1+\alpha}g^{1-\alpha}) \\ \leq A(f^2)B(g^2) + A(g^2)B(f^2). \end{aligned}$$

In particular, for $B = A$, we obtain the Callebaut refinement of Schwarz's inequality

$$(2.8) \quad A^2(fg) \leq A(f^{1+\alpha}g^{1-\alpha})A(f^{1-\alpha}g^{1+\alpha}) \leq A(f^2)A(g^2).$$

The proof follows by Theorem 1 for the (DEC) pair $\varphi(a, b) = a^{1+\alpha}b^{1-\alpha}$, $\psi(a, b) = a^{1-\alpha}b^{1+\alpha}$ with $\alpha \in [0, 1]$ and $a, b > 0$.

A function $M : [0, \infty) \times [0, \infty) \rightarrow [0, \infty)$ is called a *mean* if it satisfy the properties:

- (1) $M(x, x) = x$ for all $x \geq 0$,
- (2) $M(\lambda x, \lambda y) = \lambda M(x, y)$ for $\lambda > 0$ and $x, y \in [0, \infty)$ (positive homogeneity),
- (3) If $x_1 < x_2$, then $M(x_1, y) \leq M(x_2, y)$ and if $y_1 < y_2$, then $M(x, y_1) \leq M(x, y_2)$ (monotonicity on both arguments),
- (4) $M(x, y) = M(y, x)$ for all $x, y \geq 0$.

We call $M : [0, \infty) \times [0, \infty) \rightarrow [0, \infty)$ a *pre-mean* if it satisfies the conditions 2 and 3.

Lemma 1. If $M : [0, \infty) \times [0, \infty) \rightarrow [0, \infty)$ is a pre-mean on $[0, \infty)$, then the pair of functions $\varphi(u, v) = M^2(u, v)$ and $\psi(u, v) = \frac{u^2 v^2}{M^2(u, v)}$ is of pre-(DEC) type.

Proof. Assume that $\frac{w}{z} < \frac{v}{u}$ for positive u, v, w, z . Then $\frac{z}{w} > \frac{u}{v}$ and by the monotonicity of M we get

$$M\left(1, \frac{w}{z}\right) \leq M\left(1, \frac{v}{u}\right) \text{ and } M\left(\frac{z}{w}, 1\right) \geq M\left(\frac{u}{v}, 1\right).$$

Since M is nonnegative, hence

$$\left(M^2\left(1, \frac{w}{z}\right) - M^2\left(1, \frac{v}{u}\right)\right) \left(M^2\left(\frac{z}{w}, 1\right) - M^2\left(\frac{u}{v}, 1\right)\right) \leq 0.$$

Taking into account that M is positive homogeneous, then by multiplying with u^2, v^2, w^2, z^2 and rearranging, we derive (see also [4])

$$0 \geq (z^2 M^2(u, v) - u^2 M^2(z, w)) (w^2 M^2(u, v) - v^2 M^2(z, w)).$$

This inequality also holds if we assume that that $\frac{w}{z} > \frac{v}{u}$ for positive u, v, w, z . Therefore, for any positive numbers u, v, w, z we have

$$\begin{aligned} 0 &\geq (z^2 M^2(u, v) - u^2 M^2(z, w)) (w^2 M^2(u, v) - v^2 M^2(z, w)) \\ &= z^2 w^2 M^4(u, v) + u^2 v^2 M^4(z, w) \\ &\quad - u^2 w^2 M^2(z, w) M^2(u, v) - z^2 v^2 M^2(u, v) M^2(z, w), \end{aligned}$$

which gives

$$\begin{aligned} &u^2 w^2 M^2(z, w) M^2(u, v) + z^2 v^2 M^2(u, v) M^2(z, w) \\ &\geq z^2 w^2 M^4(u, v) + u^2 v^2 M^4(z, w) \end{aligned}$$

and dividing by $M^2(z, w) M^2(u, v)$ we get

$$\begin{aligned} u^2 w^2 + z^2 v^2 &\geq \frac{z^2 w^2 M^4(u, v) + u^2 v^2 M^4(z, w)}{M^2(z, w) M^2(u, v)} \\ &= \frac{z^2 w^2 M^2(u, v)}{M^2(z, w)} + \frac{u^2 v^2 M^2(z, w)}{M^2(u, v)} \\ &= M^2(u, v) \frac{z^2 w^2}{M^2(z, w)} + \frac{u^2 v^2}{M^2(u, v)} M^2(z, w) \\ &= \varphi(u, v) \psi(z, w) + \varphi(z, w) \psi(u, v), \end{aligned}$$

where

$$\varphi(u, v) = M^2(u, v) \quad \text{and} \quad \psi(u, v) = \frac{u^2 v^2}{M^2(u, v)}.$$

We also have

$$\begin{aligned} M^2(u, v) \frac{z^2 w^2}{M^2(z, w)} + \frac{u^2 v^2}{M^2(u, v)} M^2(z, w) \\ \geq 2M(u, v) \frac{zw}{M(z, w)} \frac{uv}{M(u, v)} M(z, w) = 2z w u v, \end{aligned}$$

which shows that

$$2uvzw \leq \varphi(u, v) \psi(z, w) + \varphi(z, w) \psi(u, v) \leq u^2 w^2 + v^2 z^2,$$

namely (φ, ψ) is of pre-(DEC) type. \square

Corollary 3. *If $M : [0, \infty) \times [0, \infty) \rightarrow [0, \infty)$ is a pre-mean on $[0, \infty)$ and $f^2, g^2, fg, M^2(f, g), \frac{f^2 g^2}{M^2(f, g)} \in L$, then for all isotonic linear functionals A, B defined on L ,*

$$\begin{aligned} (2.9) \quad 2A(fg) B(fg) \\ \leq A[M^2(f, g)] B\left(\frac{f^2 g^2}{M^2(f, g)}\right) + A\left(\frac{f^2 g^2}{M^2(f, g)}\right) B[M^2(f, g)] \\ \leq A(f^2) B(g^2) + A(g^2) B(f^2). \end{aligned}$$

In particular, for $B = A$, we obtain the refinement of Schwarz's inequality

$$(2.10) \quad A^2(fg) \leq A[M^2(f, g)] A\left(\frac{f^2 g^2}{M^2(f, g)}\right) \leq A(f^2) A(g^2).$$

Remark 1. *The univariate integral version of (2.10) was obtained by S. M. Sitnik, see for instance [5]. The isotonic functional version of (2.10) was obtained by L. Nikolova and S. Varošanec in [4].*

Corollary 4. *If $f, g > 0$ with $f^2, g^2, fg, \min\{f^2, g^2\}, \max\{f^2, g^2\} \in L$, then for all isotonic linear functionals A, B defined on L ,*

$$\begin{aligned} (2.11) \quad 2A(fg) B(fg) &\leq A(\min\{f^2, g^2\}) B(\max\{f^2, g^2\}) \\ &\quad + A(\max\{f^2, g^2\}) B(\min\{f^2, g^2\}) \\ &\leq A(f^2) B(g^2) + A(g^2) B(f^2). \end{aligned}$$

In particular, for $B = A$, we obtain the refinement of Schwarz's inequality

$$(2.12) \quad A^2(fg) \leq A(\min\{f^2, g^2\}) A(\max\{f^2, g^2\}) \leq A(f^2) A(g^2).$$

Proof. We know that for any $a, b > 0$ we have $ab = \min\{a, b\} \max\{a, b\}$. By utilising (2.9) for $M(f, g) = \min\{f, g\}$ and since $\max\{f, g\} = \frac{fg}{\min\{f, g\}}$, hence we get (2.11). \square

Remark 2. *The univariate integral version of (2.12) was obtained by S. M. Sitnik, see for instance [5]. In [1] the authors also provided four different proofs of this case, but none simpler than the one of Corollary 4.*

The proof follows by Theorem 1 and Lemma 1.

Theorem 2. *Let (φ, ψ) be a pre-(DEC) pair. Assume that $f, g : E \rightarrow \mathbb{R}$ are such that $f^2 g^2, f^{2+2\alpha} g^{2-2\alpha}, f^{2-2\alpha} g^{2+2\alpha}, \varphi(f^{1+\alpha} g^{1-\alpha}, f^{1-\alpha} g^{1+\alpha}), \psi(f^{1+\alpha} g^{1-\alpha}, f^{1-\alpha} g^{1+\alpha}) \in L, \alpha \in [0, 1]$, then for all isotonic linear functionals A, B defined on L ,*

$$(2.13) \quad \begin{aligned} & 2A(f^2 g^2) B(f^2 g^2) \\ & \leq A[\varphi(f^{1+\alpha} g^{1-\alpha}, f^{1-\alpha} g^{1+\alpha})] B[\psi(f^{1+\alpha} g^{1-\alpha}, f^{1-\alpha} g^{1+\alpha})] \\ & \quad + B[\varphi(f^{1+\alpha} g^{1-\alpha}, f^{1-\alpha} g^{1+\alpha})] A[\psi(f^{1+\alpha} g^{1-\alpha}, f^{1-\alpha} g^{1+\alpha})] \\ & \leq A(f^{2+2\alpha} g^{2-2\alpha}) B(f^{2-2\alpha} g^{2+2\alpha}) + A(f^{2-2\alpha} g^{2+2\alpha}) B(f^{2+2\alpha} g^{2-2\alpha}), \end{aligned}$$

and, in particular

$$(2.14) \quad \begin{aligned} A^2(f^2 g^2) & \leq A[\varphi(f^{1+\alpha} g^{1-\alpha}, f^{1-\alpha} g^{1+\alpha})] A[\psi(f^{1+\alpha} g^{1-\alpha}, f^{1-\alpha} g^{1+\alpha})] \\ & \leq A(f^{2+2\alpha} g^{2-2\alpha}) A(f^{2-2\alpha} g^{2+2\alpha}). \end{aligned}$$

Proof. From (1.5) we get for $u = f^{1+\alpha}(t) g^{1-\alpha}(t), v = f^{1-\alpha}(t) g^{1+\alpha}(t), z = f^{1+\alpha}(s) g^{1-\alpha}(s)$ and $w = f^{1-\alpha}(s) g^{1+\alpha}(s)$, where $t, s \in E$ we get

$$(2.15) \quad \begin{aligned} & 2f^{1+\alpha}(t) g^{1-\alpha}(t) f^{1-\alpha}(t) g^{1+\alpha}(t) f^{1+\alpha}(s) g^{1-\alpha}(s) f^{1-\alpha}(s) g^{1+\alpha}(s) \\ & \leq \varphi(f^{1+\alpha}(t) g^{1-\alpha}(t), f^{1-\alpha}(t) g^{1+\alpha}(t)) \\ & \quad \times \psi(f^{1+\alpha}(s) g^{1-\alpha}(s), f^{1-\alpha}(s) g^{1+\alpha}(s)) \\ & \quad + \varphi(f^{1+\alpha}(s) g^{1-\alpha}(s), f^{1-\alpha}(s) g^{1+\alpha}(s)) \\ & \quad \times \psi(f^{1+\alpha}(t) g^{1-\alpha}(t), f^{1-\alpha}(t) g^{1+\alpha}(t)) \\ & \leq f^{2+2\alpha}(t) g^{2-2\alpha}(t) f^{2-2\alpha}(s) g^{2+2\alpha}(s) \\ & \quad + f^{2-2\alpha}(t) g^{2+2\alpha}(t) f^{2+2\alpha}(s) g^{2-2\alpha}(s), \end{aligned}$$

namely

$$(2.16) \quad \begin{aligned} & 2f^2(t) g^2(t) f^2(s) g^2(s) \\ & \leq \varphi(f^{1+\alpha}(t) g^{1-\alpha}(t), f^{1-\alpha}(t) g^{1+\alpha}(t)) \\ & \quad \times \psi(f^{1+\alpha}(s) g^{1-\alpha}(s), f^{1-\alpha}(s) g^{1+\alpha}(s)) \\ & \quad + \varphi(f^{1+\alpha}(s) g^{1-\alpha}(s), f^{1-\alpha}(s) g^{1+\alpha}(s)) \\ & \quad \times \psi(f^{1+\alpha}(t) g^{1-\alpha}(t), f^{1-\alpha}(t) g^{1+\alpha}(t)) \\ & \leq f^{2+2\alpha}(t) g^{2-2\alpha}(t) f^{2-2\alpha}(s) g^{2+2\alpha}(s) \\ & \quad + f^{2-2\alpha}(t) g^{2+2\alpha}(t) f^{2+2\alpha}(s) g^{2-2\alpha}(s), \end{aligned}$$

for $t, s \in E$.

If we apply the functional A over the variable t and the functional B over the variable s , we get (2.13). \square

Corollary 5. *Let (φ, ψ) be a pre-(DEC) pair. Assume that $f, g : E \rightarrow \mathbb{R}$ are such that $fg, f^{1+\alpha}g^{1-\alpha}, f^{1-\alpha}g^{1+\alpha}, \varphi\left(f^{\frac{1+\alpha}{2}}g^{\frac{1-\alpha}{2}}, f^{\frac{1-\alpha}{2}}g^{\frac{1+\alpha}{2}}\right), \psi\left(f^{\frac{1+\alpha}{2}}g^{\frac{1-\alpha}{2}}, f^{\frac{1-\alpha}{2}}g^{\frac{1+\alpha}{2}}\right) \in L, \alpha \in [0, 1]$, then for all isotonic linear functionals A, B defined on L ,*

$$(2.17) \quad \begin{aligned} & 2A(fg)B(fg) \\ & \leq A\left[\varphi\left(f^{\frac{1+\alpha}{2}}g^{\frac{1-\alpha}{2}}, f^{\frac{1-\alpha}{2}}g^{\frac{1+\alpha}{2}}\right)\right]B\left[\psi\left(f^{\frac{1+\alpha}{2}}g^{\frac{1-\alpha}{2}}, f^{\frac{1-\alpha}{2}}g^{\frac{1+\alpha}{2}}\right)\right] \\ & + B\left[\varphi\left(f^{\frac{1+\alpha}{2}}g^{\frac{1-\alpha}{2}}, f^{\frac{1-\alpha}{2}}g^{\frac{1+\alpha}{2}}\right)\right]A\left[\psi\left(f^{\frac{1+\alpha}{2}}g^{\frac{1-\alpha}{2}}, f^{\frac{1-\alpha}{2}}g^{\frac{1+\alpha}{2}}\right)\right] \\ & \leq A(f^{1+\alpha}g^{1-\alpha})B(f^{1-\alpha}g^{1+\alpha}) + A(f^{1+\alpha}g^{1-\alpha})B(f^{1-\alpha}g^{1+\alpha}), \end{aligned}$$

and, in particular, the following refinement of Callebaut's inequality

$$(2.18) \quad \begin{aligned} A^2(fg) & \leq A\left[\varphi\left(f^{\frac{1+\alpha}{2}}g^{\frac{1-\alpha}{2}}, f^{\frac{1-\alpha}{2}}g^{\frac{1+\alpha}{2}}\right)\right]A\left[\psi\left(f^{\frac{1+\alpha}{2}}g^{\frac{1-\alpha}{2}}, f^{\frac{1-\alpha}{2}}g^{\frac{1+\alpha}{2}}\right)\right] \\ & \leq A(f^{1+\alpha}g^{1-\alpha})A(f^{1-\alpha}g^{1+\alpha}). \end{aligned}$$

3. SOME EXAMPLES

Following the terminology of [1], a complementary mean is defined as

$$M^*(x, y) := \frac{xy}{M(x, y)}, \quad x, y > 0.$$

With this notation and if $M : [0, \infty) \times [0, \infty) \rightarrow [0, \infty)$ is a pre-mean on $[0, \infty)$ and $f^2, g^2, fg, M^2(f, g), [M^*(f, g)]^2 \in L$, then for all isotonic linear functionals A, B defined on L , we have by (2.9) that

$$(3.1) \quad \begin{aligned} & 2A(fg)B(fg) \\ & \leq A[M^2(f, g)]B[(M^*(f, g))^2] + A[(M^*(f, g))^2]B[M^2(f, g)] \\ & \leq A(f^2)B(g^2) + A(g^2)B(f^2). \end{aligned}$$

In particular, for $B = A$, we obtain the refinement of Schwarz's inequality

$$(3.2) \quad A^2(fg) \leq A[M^2(f, g)]A[(M^*(f, g))^2] \leq A(f^2)A(g^2).$$

Consider the power means

$$M_\alpha(x, y) := \begin{cases} \left(\frac{x^\alpha + y^\alpha}{2}\right)^{1/\alpha}, & -\infty < \alpha < \infty, \alpha \neq 0, \\ \sqrt{xy}, & \alpha = 0, \\ \min\{x, y\}, & \alpha = -\infty, \\ \max\{x, y\}, & \alpha = \infty. \end{cases}$$

For power means we have

$$(M_\alpha)^* = M_{-\alpha} \text{ for all } \alpha \in [-\infty, \infty].$$

From (3.1) we obtain the following generalizations of *Milne's inequality* (for $\alpha = 2$)

$$(3.3) \quad \begin{aligned} 2A(fg)B(fg) &\leq A\left[(f^\alpha + g^\alpha)^{2/\alpha}\right] B\left[\frac{f^2g^2}{(f^\alpha + g^\alpha)^{2/\alpha}}\right] \\ &\quad + A\left[\frac{f^2g^2}{(f^\alpha + g^\alpha)^{2/\alpha}}\right] B\left[(f^\alpha + g^\alpha)^{2/\alpha}\right] \\ &\leq A(f^2)B(g^2) + A(g^2)B(f^2), \end{aligned}$$

for all $\alpha \in [-\infty, \infty]$, provided $f^2, g^2, fg, (f^\alpha + g^\alpha)^{2/\alpha}, \frac{f^2g^2}{(f^\alpha + g^\alpha)^{2/\alpha}} \in L$.

In particular,

$$(3.4) \quad A^2(fg) \leq A\left[(f^\alpha + g^\alpha)^{2/\alpha}\right] A\left[\frac{f^2g^2}{(f^\alpha + g^\alpha)^{2/\alpha}}\right] \leq A(f^2)A(g^2).$$

for all $\alpha \in [-\infty, \infty]$, provided $f^2, g^2, fg, (f^\alpha + g^\alpha)^{2/\alpha}, \frac{f^2g^2}{(f^\alpha + g^\alpha)^{2/\alpha}} \in L$.

The interested reader may state the corresponding inequalities for $\alpha = 1, \alpha = 1/2$ or $\alpha = 4$.

Also, consider *Radó means* (or L_p -means)

$$R_\beta(x, y) := \begin{cases} \left(\frac{x^{\beta+1} - y^{\beta+1}}{(\beta+1)(x-y)}\right)^{1/\beta}, & -\infty < \beta < \infty, \beta \neq 0, -1, \\ \frac{y-x}{\ln y - \ln x} = L(x, y), & \text{logarithmic mean, } \beta = -1, \\ \frac{1}{e} \left(\frac{y^y}{x^x}\right)^{\frac{1}{y-x}} = I(x, y), & \text{identric mean, } \beta = 0, \\ \min\{x, y\}, & \alpha = -\infty, \\ \max\{x, y\}, & \alpha = \infty. \end{cases}$$

The complementary mean is

$$R_\beta^*(x, y) = \frac{1}{R_\beta(x^{-1}, y^{-1})}, \text{ for all } \beta \in [-\infty, \infty].$$

From (3.1) we get

$$(3.5) \quad \begin{aligned} 2A(fg)B(fg) &\leq A[R_\beta^2(f, g)] B[R_\beta^{-2}(f^{-1}, g^{-1})] + A[R_\beta^{-2}(f^{-1}, g^{-1})] B[R_\beta^2(f, g)] \\ &\leq A(f^2)B(g^2) + A(g^2)B(f^2) \end{aligned}$$

for all $\beta \in [-\infty, \infty]$, provided $f^2, g^2, fg, R_\beta^2(f, g), R_\beta^{-2}(f^{-1}, g^{-1}) \in L$.

In particular,

$$(3.6) \quad A^2(fg) \leq A[R_\beta^2(f, g)] A[R_\beta^{-2}(f^{-1}, g^{-1})] \leq A(f^2)A(g^2)$$

for all $\beta \in [-\infty, \infty]$, provided $f^2, g^2, fg, R_\beta^2(f, g), R_\beta^{-2}(f^{-1}, g^{-1}) \in L$.

The particular cases $\beta = -1$ and $\beta = 0$ are of special interest. Their integral version were stated in [1].

As pointed out in [4], one can also consider *Seiffert type means* defined by

$$M(x, y) := \frac{|x - y|}{2f\left(\frac{|x-y|}{x+y}\right)} \text{ with } \lim_{z \rightarrow 0} \frac{f(z)}{z} = 1.$$

Witkowski, [8], proved that $M(x, y)$ is increasing on every argument if and only if the function $(1+z)f(z)/z$ increases and the function $(1-z)f(z)/z$ decreases on $z \in (0, 1]$. It is checked that functions $f(z) = \sin z$, $f(z) = \tan z$, $f(z) = \sinh z$, $f(z) = \tanh z$, $f(z) = \ln(1+z)$, $f(z) = \arcsin z$, $f(z) = \arctan z$, $f(z) = \operatorname{arsinh} z$, $f(z) = \operatorname{artanh} z$ satisfy this condition and so we get examples of means which are homogeneous, increasing on every argument (and even symmetric as Witkowski showed). If $f(z) = \arcsin z$ this is the mean $P(x, y)$, and if $f(z) = \arctan z$ this is the mean $T(x, y)$, introduced by Seiffert in 1987, [6] and 1995, [7], respectively.

REFERENCES

- [1] P. Agarwal, A. A. Korenovskii, S. M. Sitnik, A generalization of Cauchy-Bunyakovsky integral inequality via means with max and min values. *Advances in mathematical inequalities and applications*, 333–349, Trends Math., Birkhäuser/Springer, Singapore, 2018.
- [2] D. E. Daykin, C. J. Eliezer and C. Carlitz, Problem 5563, *Amer. Math. Monthly*, **75**(1968), p. 198 and **76** (1969), 98–100.
- [3] D. S. Mitrinović, J. Pečarić and A. M. Fink, *Classical and New Inequalities in Analysis*, Kluwer Academic Publishers, Dordrecht/Boston/London, 1993.
- [4] L. Nikolova, S. Varošanec, Functionals related to DEC inequality, *J. Math. Ineq.*, **9** (2015), Number 4, 1227–1243.
- [5] S. M. Sitnik, Generalized Young and Cauchy-Bunyakovsky inequalities with applications: a survey, *Advances in Modern Analysis*, Mathematical Forum Series, Ed. Yu. F. Korobeinik, A. G. Kursaev, 2009, 221–266.
- [6] H.-J. Seiffert, Werte zwischen dem geometrischen und dem arithmetischen Mittel zweier Zahlen. *Elem. Math.*, **42**, 4 (1987), 105–107
- [7] H.-J. Seiffert. Aufgabe β 16. *Die Wurzel*, **29** (9+10) (1995), 221–222.
- [8] A. Witkowski, On Seiffert-like means, *J. Math. Ineq.*, **9** (2015), Number 4, 1071–1092.

¹MATHEMATICS, SCHOOL OF ENGINEERING & SCIENCE, VICTORIA UNIVERSITY, PO Box 14428, MELBOURNE CITY, MC 8001, AUSTRALIA.

E-mail address: `sever.dragomir@vu.edu.au`

URL: `http://rgmia.org/dragomir`

²DST-NRF CENTRE OF EXCELLENCE IN THE MATHEMATICAL, AND STATISTICAL SCIENCES, SCHOOL OF COMPUTER SCIENCE, & APPLIED MATHEMATICS, UNIVERSITY OF THE WITWATERSRAND,, PRIVATE BAG 3, JOHANNESBURG 2050, SOUTH AFRICA